4-1-008

(4-8




03

(RO4.4

)

04 06 30

03 07 30

03 10 30

04 04 10

03 10 30




4-8




4-8

1
Lvl
1
Lv2
VUe 150
1
Lv3
1
Lv4
1,204.58 m3
(
0.28m3
1 m3
Lv4
148.57 m3
(
0.28m3
1 m3
Lv4
837.68 m3




@48 )

1:11 m3
( )
50,000m3
1.11 m3
( )
BH 0.8m3 4t
1.5km
1:11 m3
( )
0.28m3
1 m3
Lv4
273.81 m3
( )
8.9km 10t
0.8m3
1 m3
Lv4
1,204.58 m3
( )
1.5km 4t
0.28m3
1 m3
1 m3




@48 ) (

Lv3
1
Lv4
723.8
150mm
20
1
150*50m 2
0.02
() Lv4
26
¢ 150
1
Lv3
1
Lv4
0.55m
36:.1
( )
0:055 m3




4-8

Lv4
0.85m
687.7
( )
8
0085 m3
Lv3
1
Lv4
H=2.0m, 1.5m ,
39
( )
1.5
BH 0.28m3 9
1
( )
1.5
4.9t 10
1
(
1 2.0
2
1
Lv4
H=2.0 2.5m, 2.0m
341.6
( )
2.0
BH 0.28m3 11




4-8

( )
2.0
4.9t 12
1
(
1 2.0
2
1
Lv4
H=2.5m, 2.5m ,
310
( )
2.5
BH 0.28m3 13
1
( )
2.5
4.9t 14
1
(
2 3.5
3
1
Lv4
H=3.0m, 3.0m ,
10
( )
3.0
BH 0.28m3 15
1
( )
3.0
4.9t 16




4-8

3.5
3
1
Lv4
1
( 0)
1 364,000
( 0)
1 159,000
Lv3
1
Lv4
1
1 17
57
18
1
Lv2




4-8

Lv3
1
1 Lv4
1
1 (900mm) 3m
4 19
11
(T-14)@ 600
11
25mm
@ 600
6
45mm
@ 600
5
¢ =600
H= 50mm
4
¢ =600
H=100mm
2
¢ =600
H=150mm




(4-8

¢ 600-900 H=450

5
@ 600-900 H=600

6
® 900 H= 600

2
® 900 H= 900

1
@ 900 H=1200

3
@ 900 H=1500

3
® 900 H=1800

2
H=130

11

( )

C-40

11




@48 )

Y 0 1
¢ 100
1
Y 0 1
¢ 150
14
Lv4
1
1.0
5
3
Lv3
1
Lv4
1
( )
2.0 150 200mm 5
300mm 20
4
( )
3.5 150 200mm 5
300mm 21
3
¢ 300mm T-14t
7

10




4-8

(
¢ 300
7
Lv2
1
Lv3
1
Lv4
50:.23 m3
(
0.28m3
1 m3
Lv4
6.94 m3
(
0.28m3
1 m3
Lv4
30.79 m3
1:11 m3

11




@48 )

( )
50,000m3
1:11 m3
( )
BH 0.8m3 4t
1.5km
1.11 m3
( )
0.28m3
1 m3
Lv4
16:02 m3
( )
8.9km 10t
0.8m3
1 m3
Lv4
50:.23 m3
( )
1.5km 4t
0.28m3
1 m3
1 m3
Lv3
1

12




4-8

Lv4
1
( )
200mm
22
22
( )
23
19
( )T- 8
@ 200(
19
Lv3
1
Lv4
1
100mm 3m
5 24
3
100mm 3 5m
5 25
16
100mm 3 5m
5 26
2

13




48 )

100mm 5 12m
5 27
1
Lv2
1
Lv3
1
Lv4
As t=15cm
1,658.14
15cm
3
1
Lv4
As t=15cm
2,897.19 m2
15cm
4
1 m2
Lv4
As
127.02 m3
( 15cm
22 .0km DID 5
1 m3

14




@48 )

AS
1 m3
( ) Lv3
1
Lv4
9.77 m2
1 m2
1.4 b 3 Lv4
, As,t=5cm
37:.2 m2
( )1 50mm
As ( )( )20mm
1.4 3.0m
1 m2
1.4 b 3 Lv4
, As,t=5cm
37:.2 m2
( )1 50mm
As ( )( )20mm
1.4 3.0m
1 m2
1.4 b 3 Lv4
, As,t=5cm
109: 35 m2

15




@48 )

( )1 50mm
As ( )( )20mm
1.4 3.0m 9
1 m2
3 b Lv4
, As,t=5cm
1,754.72 m2
( )1 50mm
As ( )( )20mm
3.0m 10
1 m2
1.4 b 3 Lv4
, As,t=3cm
190:5 m2
( )1 30mm
As ( ) )13mm
1.4 11
1 m2
3 b Lv4
, As,t=3cm
176.8 m2
( )1 30mm
As ( ) )13mm
1.4 11
1 m2
Lv4
, ,t=10cm
30:13 m2
( )
100mm 1
40 0 12
1 m2

16




@48 )

( ) Lv3
1
Lv4
,t=15cm
511:48 m2
150mm 1
40 0 13
1 m2
Lv4
,t=12cm
511:48 m2
120mm 1
M-40 14
1 m2
Lv4
As,t=3cm
511:48 m2
)1 30mm
As ( )( )20mm
1.4m 15
1 m2
Lv4
,t=15cm
12.75 m2
150mm 1
40 0 13
1 m2

17




@48 )

Lv4
, ,t=15cm
12.75 m2
150mm 1
M-40 16
1 m2
Lv4
, As,t=5cm
12.75 m2
)1 50mm
As ( )( )20mm
1.4m 17
1 m2
Lv4
, ,t=10cm
102 m2
( )
100mm 1
40 0 12
1 m2
Lv4
, As,t=3cm
102 m2
)1 30mm
As ( )( )20mm
1.4 18
1 m2
Lv2
1

18




4-8

Lv3
1

Lv4
1

28

174

Lvl
1

( Lv2

¢ 250(VPg 150)

1

Lv3

@ 250(VPop 150)

1

Lv4
1

¢ 250 L= 800
45
AB, @ 250
( 0)
3 112,000

19




4-8 ) (
( ( )
250mm
29
34.84
Lv4
1.95 m3
( )
8.9km 10t
0.8m3 30
1 m3
Lv4
1
¢ 150 L=4.00m(VU)
13
( )
VUe 150
38
( ( ))
150mm 31
34.84
Lv4
1.02 m3
( ( ))
250mm 32
1 m3

20




(4-8 (
Lv3
Lv4
29
150mm
20 33
) Lv3
Lv4
)
250mm
34
Lv4
( )
250mm
( ) 35
Lv4

21




@48 ) (

( ( )
250mm 36
3
Lv4
1
( )
37
3
Lv3
1
Lv4
No.613-2-1
1
( )
2
38
4
Lv4
No.613-1-1
1
( )
2
39
4
Lv4
No.614-2-1
1

22




4-8

(
2
40
Lv4
No.615-1
(
2
41
Lv4
No.8265-2-1
(
2
42
Lv4
No.8265-1-1
(
2
43
Lv4
No.8264-3-1
(
2
44

23




4-8

Lv4
(
( Lv2
¢ 300(VPg 150)
Lv3
¢ 300
Lv4

¢ 150

0)
285,780

0)
138,622

0)
264,781

0)
84,979

24




4-8

Lv4
041 m3
(
8.9km 10t
0.8m3 5
1 m3
Lv3
1
Lv4
0.43
150mm
20 33
1
Lv3
1
Lv4
1
0 40 45
62
46
4

25




48 )

Lv2
No.1 ,@ 1500

Lv3
Lv4

5 m3

11 m3

( )
50,000m3
11 m3
( )
BH 0.8m3 4t
1.5km
11 m3
( )
0.28m3

m3
Lv4

9 m3

,4 300 500kN/
( 0)
m3 11,000

26




(4-8

Lv4
4 m3
(
8.9km 10t
0.8m3 5
m3
Lv4
5 m3
(
1.5km 4t
0.28m3 6
m3
2
m3
Lv3
Lv4
5 N 30
1500mm 47
05
N 30
1500mm 48
77

27




4-8

1500mm 49
1
1500mm 50
1
1500mm 51
1
A
-0:388
Lv4
1
52
1.8 m3
Lv4
1
1500mm
53
1
Lv4
1

28




4-8

1500

¢ 1500(T=12mm)

Lv4
¢ 1500
( 0)
27,900
Lv4
54
Lv4
55
( 0)
m3 12,000

29




4-8

Lv4
1500mm
56
1500mm
57
1500mm
58
Lv2
No.2 ,@ 1500
Lv3
Lv4

5 m3
3
11 m3
( )
50,000m3
1
11 m3

30




@48 )

( )
BH 0.8m3 4t
1.5km
11 m3
( )
0.28m3
m3
Lv4
9 m3
,4 300 500kN/
( 0)
m3 11,000
Lv4
6 m3
( )
8.9km 10t
0.8m3
m3
Lv4
5 m3
( )
1.5km 4t
0.28m3
m3
m3

31




4-8

Lv3
1
Lv4
1
N 30
1500mm 48
3.93
1500mm 49
1
1500mm 50
1
1500mm 59
1
A
-0:356
Lv4
1
52
1.8 m3

32




4-8

Lv4
1500mm
53
Lv4
1500
¢ 1500(T=12mm)
Lv4
¢ 1500
( 0)
27,900
Lv4
54

33




4-8

Lv4
55
( 0)
m3 12,000
Lv4
1500mm
56
1500mm
57
1500mm
58
Lv2
No.3 ,@ 1500
Lv3

34




48 )

Lv4
5 m3
3
11 m3
( )
50,000m3
1
11 m3
( )
BH 0.8m3 4t
1.5km 4
11 m3
( )
0.28m3
1
m3
Lv4
m3
,4 300 500kN/
( 0)
m3 11,000
Lv4
7 m3
( )
8.9km 10t
0.8m3 5
m3

35




4-8

Lv4
5 m3
(
1.5km 4t
0.28m3 6
m3
2
m3
Lv3
Lv4
5 N 30
1500mm 47
05
N 30
1500mm 48
95
1500mm 49
1500mm 50

36




4-8

1500mm

60

334

Lv4

m3

52

Lv4

1500mm

53

Lv4

1500

¢ 1500(T=12mm)

37




4-8

Lv4
¢ 1500
( 0)
27,900
Lv4
54
Lv4
55
( 0)
m3 12,000
Lv4
1500mm
56

38




4-8

1500mm
57
1500mm
58
Lv2
No.4 ,@ 1500
Lv3
Lv4
5 m3
3
11 m3
( )
50,000m3
1
11 m3
(
BH 0.8m3 4t
1.5km 4
11 m3
(
0.28m3
1
m3

39




@48 )

Lv4
m3
,4 300 500kN/
( 0)
m3 11,000
Lv4
m3
( )
8.9km 10t
0.8m3
m3
Lv4
m3
( )
1.5km 4t
0.28m3
m3
m3
Lv3
Lv4

40




4-8

5 N 30

1500mm 47
1.05

N 30

1500mm 48
2.5

1500mm 49
1

1500mm 50
1

1500mm 60
1

A
-0:371
Lv4
1
52
1.8 m3
Lv4

1

41




4-8

1500mm
53
Lv4
1500
¢ 1500(T=12mm)
Lv4
¢ 1500
( 0
27,900
Lv4
54
Lv4

42




4-8

55
( 0)
m3 12,000
Lv4
1500mm
56
1500mm
57
1500mm
58
Lv2
Lv3
Lv4

43




4-8

1 (900mm) 3m
4

19

(T-14)@ 600

(T-25)¢ 600

25mm
@ 600

45mm
@ 600

¢ =600
H= 50mm

¢ =600
H=150mm

1

¢ 600-900 H=450

1

® 900 H= 600

44




(4-8

1

® 900 H=1500

H=130

¢ 100

¢ 150

Lv4

No.613-2-1(

1.5

No.614-2-1(

1

1.5

Lv2

45




“4-8 )
Lv3
1
Lv4
As t=15cm
56
15cm
1
Lv4
As t=15cm
16 m2
15cm
1 m2
Lv4
As
1.4 m3
( 15cm )
22 .0km DID
1 m3
AS
1 m3
( ) Lv3
1

46




@48 )

Lv4
96 m2
m2
1.4 b 3 Lv4
, As,t=5cm
83 m2
( )1 50mm
As ( )( )20mm
1.4 3.0m
m2
1.4 b 3 Lv4
, As,t=5cm
83 m2
( )1 50mm
As ( )( )20mm
1.4 3.0m
m2
1.4 b 3 Lv4
, As,t=5cm
61 m2
( )1 50mm
As ( )( )20mm
1.4 3.0m
m2
( ) Lv3

47




@48 )

Lv4
’ ,t=15cm
24 m2
150mm 1
40 0 13
m2
Lv4
, ,t=12cm
24 m2
120mm 1
M-40 14
m2
Lv4
, As,t=3cm
24 m2
)1 30mm
As ( )( )20mm
1.4m 15
m2
Lv4
’ ,t=15cm
72 m2
150mm 1
40 0 13
m2
Lv4
, ,t=15cm
72 m2

48




@48 )

150mm 1
M-40 16
1 m2
Lv4
, As,t=5cm
3.72 m2
)1 50mm
As ( )( )20mm
1.4m 17
1 m2
Lv2
1
Lv3
1
Lv4
1
28
59
1

49




“4-8 )
( )
( )
12 10km
100
607
101
607
( )
12 10km
100
64
101
64
17.756m
@ 66mm 1
@ 50 L=4.00m(VU)
44

50




4-8

51




4-8

52




4-8

1
Lvl
1
Lv2
VUe 150
1
Lv3
1
Lv4
292.81 m3
(
0.28m3
1 m3
Lv4
54.55 m3
(
0.28m3
1 m3
Lv4
169:26 m3

53




@48 )

1:11 m3
( )
50,000m3
1.11 m3
( )
BH 0.8m3 4t
1.5km
1:11 m3
( )
0.28m3
1 m3
Lv4
104.75 m3
( )
8.9km 10t
0.8m3
1 m3
Lv4
292.81 m3
( )
1.5km 4t
0.28m3
1 m3
1 m3

54




@48 ) (

Lv3
1
Lv4
305.9
150mm
20
1
150*50m 2
0.02
() Lv4
18
¢ 150
1
Lv3
1
Lv4
0.55m
198.95
( )
0:055 m3

55




4-8

Lv4
0.85m
10695
( )
8
0085 m3
Lv3
1
Lv4
H=2.0m, 1.5m ,
52.5
( )
1.5
BH 0.28m3 9
1
( )
1.5
4.9t 10
1
(
1 2.0
2
1
Lv4
H=2.0 2.5m, 2.0m
58.5
( )
2.0
BH 0.28m3 11
1

56




4-8

2.0

4.9t

12

2.0

Lv4

(

0)
56,200

(

0)
23,200

Lv3

Lv4

21

17

18

57




4-8

Lv2

Lv3

Lv4

1 (900mm) 3m
4

19

(T-14)@ 600

25mm
@ 600

45mm
@ 600

¢ =600
H= 50mm

¢ =600
H=100mm

58




(4-8

¢ =600
H=150mm

¢ 600-900 H=300

¢ 600-900 H=450

¢ 600-900 H=600

@ 900 H= 600

® 900 H= 900

H=130

59




@48 ) (

Y 0 1
¢ 150
5
Lv3
1
Lv4
1
( )
2.0 150 200mm 5
300mm 20
8
( )
3.5 150 200mm 5
300mm 21
1
)
¢ 300mm T-14t
9
( )
¢ 300
9
Lv2
1
Lv3
1

60




4-8

Lv4
26:2 m3
( )
0.28m3
1 m3
Lv4
3.83 m3
(
0.28m3
1 m3
Lv4
16:35 m3
1.11 m3
( )
50,000m3
1:11 m3
(
BH 0.8m3 4t
1.5km
1.11 m3
(
0.28m3
1 m3

61




4-8

Lv4
8.06 m3
(
8.9km 10t
0.8m3 5
1 m3
Lv4
26:2 m3
(
1.5km 4t
0.28m3 6
1 m3
2
1 m3
Lv3
1
Lv4
1
(
200mm
22
12
( )
23
10

62




@48 )

( )T- 8
@ 200( )
10
Lv3
1
Lv4
1
100mm 3m
5 24
2
100mm 3 5m
5 25
3
100mm 3 5m
5 26
7
Lv2
1
Lv3
1
Lv4
As t=15cm
534.04

63




@48 )

15cm
3
1
Lv4
Co t=15cm
11
15cm
19
1
Lv4
As t=15cm
1,065.76 m2
15cm
4
1 m2
Lv4
Co t=10cm
4:68 m2
15cm
20
1 m2
Lv4
As
39:.49 m3
( 15cm )
22 .0km DID 5
1 m3

64




@48 )

AS
m3
Lv4
Co
47 m3
« )
23.2km DID 21
m3
(o0] ( 0)
m3 1,880
( ) Lv3
Lv4
78 m2
6
m2
1.4 b 3 Lv4
, As,t=5cm
45 m2
( )1 50mm
As )( )20mm
1.4 3.0m 7
m2

65




@48 )

1.4 b 3 Lv4
, As,t=5cm
6.45 m2
( )1 50mm
As ( )( )20mm
1.4 3.0m 8
1 m2
3 b Lv4
, As,t=5cm
395 m2
( )1 50mm
As ( )( )20mm
3.0m 10
1 m2
1.4 b 3 Lv4
, As,t=3cm
37.7 m2
( )1 30mm
As ( ) )13mm
1.4 11
1 m2
3<b Lv4
, As,t=3cm
37414 m2
( )1 30mm
As ( ) )13mm
1.4 11
1 m2
Lv4
Co ,t=10cm
4.68 m2

66




@48 )

10cm 1
AS : 61
1 m2
Lv4
s ,t=10cm
49;89 m2
( )
100mm 1
40 0 12
1 m2
( ) Lv3
1
Lv4
’ ,t=15cm
95.72 m2
150mm 1
40 0 13
1 m2
Lv4
, ,t=12cm
95.72 m2
120mm 1
M-40 14
1 m2
Lv4
, As,t=3cm
95.72 m2

67




48 )

( )1
As ( )( )20mm
1.4m 15
1 m2
Lv4
, ,t=10cm
112:82 m2
( )
100mm 1
40 0 12
1 m2
Lv4
, As,t=3cm
112:82 m2
( )1 30mm
As ( ) )13mm
1.4 11
1 m2
Lv4
Co , ,t=17cm
4,68 m2
( )
170mm 1
40 0 22
1 m2
Lv2
1
Lv3
1

68




(4-8

Lv4

60

28

12

10km

597

100

597

101

69




4-8

70




(4-8

(1.00)

(0.00%)

¢n)

QD)

¢m )

(

) (

2

¢n)

QD)

¢m )

o|lo|lo|o

¢n)

¢m )

71




(4-8

(1.00)

(0.00%)

n) 0
n) 0
¢Gm ) 0
1

) 2 0
n) 0
n) 0
¢Gm ) 0
n) 0
¢n) () 0

72




(4-8 (
( 0.28m3 100 m3
2
3
0.28n3(  0.2)

62

;
23

100

m3

73




@48 ) (

100
Y1 2.0

74




@48 ) (

100
Y2 3.5

75




4 “4-8 )

4
( ) C-40
( .
C-40
23 m3
18-12-40 B WC60 24
15 m3
( )
20mm
68
71 m2

76




4 (4-8
5
1.0
(
15
15
3
17.5cm 20.0cm
C-40 25
12 m2
18-8-40 B WC60 26
13 m3
27
16 m2
@ 100 L=4.00m(VU)
123

90° (VS HS
¢ 100
90° DV(
¢ 100

7




4-8

1.0

¢ 100

(wB)

78




3
85

14

2
86

1
87

1
88

1
89




4-8

90

91

92

80




4-8

18-12-40

B WC60

15

m3

24

20mm

(

71

m2

68

81




4 (4-8
8
No.613-2-1( 1.5
( .
19
19
38
17.5cm 20.0cm
C-40 25
12 m2
18-8-40 B WC60 26
21 m3
27
01 m2
@ 100 L=4.00m(VU)
325
90° (VS HS )
¢ 100
90° DV( )
¢ 100

82




@48 )

No.613-2-1( 1.5

¢ 100

(wB)

83




4 (4-8 ) (
9
No.614-2-1( 1 1.5
( .
17
17
34
17.5cm 20.0cm
C-40 25
12 m2
18-8-40 B WC60 26
19 m3
27
83 m2
@ 100 L=4.00m(VU)
28
90° (VS HS )
¢ 100
90° DV( )
¢ 100

84




4-8

)

No.614-2-1(

1.5

¢ 100

(wB)

85




4 “4-8 ) (

1
( ) 0.28n3 100
1.9
5
0.28m3(  0.2)
2 62
111
1
[A] = 1 0.28n3 [X] = 3 -2

86




2
( ) 0.28m3 : 100
( . )
2:5
3:8
126 m3
0.28m3(  0.2)
2 62
7.6
23
100 m3
- 3 [B] = 1 0.28m3
= 0.000 m3 [D] = 100.000 m3

87




@48 ) (

100
013
0.18
3.5
0.8m3( 0.6)
63
3.14
.500 100m3 [B] = 1
i1

88




@48 ) (

( ) BH 0.8m3
1.5km

4t

0:.27

64

PR e
a1
o
o

=~
=

DID

BH
DID

0.8m3

89




@48 ) (

( ) 8.9km 10t
( 0.8m3 , )
(10t )
8.9km
0.8m3
1 m3
( 0)
1 m3 3,000
= 3 10t [B] = /8-900 km
= 1 DID DID [D] = 6 0.8m3
=1 [a] = |1

90




@48 ) (

( ) 1.5km 4t m3

( 0.28m3 )

(4t )

1.5km

0.28m3 66
m3
]

[Al= 2 4t [B] = 1.500  km
[C]= 1 DID  DID [0] = 3 0.28n3
[E]1= 2 [a] = 1

91




@48 ) (

150mm

150mm

150mm




4 (4-8
8
m3
1:263 m3
10m3 i
1 m3
[
[] = 3 [B] = 0.000 m3
[a] = 1 10n3 [bl = 1
[c]=1

93




@48 ) (

9
( ) 1.5 100
(BH 0.28m3 , )
16
16
4.8
0.28m3(  0.2)
2 62
8.4
]
[A] = 1 1.5 [B] = 3 0.28m3
[X] = 3 2

94




@48 )

10

4.9t ,

100

4.9t

[A] =

1

1.5

[e] =

.ot

95




4 (-8
11
( 2.0 100
(BH 0.28m3
0.28n3(  0.2)
2 62
[
[A] = 2 2.0 [8] = 0.28m3
X1 = 3

96




@48 )

12

4.9t ,

100

4.9t

[A] =

2

2.0

[e] =

.ot

97




4 -8 )
13
( ) 2.5 100
(BH 0.28m3 ,
1
1
5
0.28m3(  0.2)
2 62
10
[A] = 3 2.5 [B] = 0.28m3
[X] =3 -2

98




@48 )

14

4.9t ,

100

4.9t

[A] =

3

2.5

[e] =

.ot

99




@48 ) (

15
( ) 3.0 100
(BH 0.28m3 , )
2
2
6
0.28m3( 0.2)
2 62

12

= 4 3.0 [B] = 3 0.28m3

= 3 2

100




@48 )

16

4.9t ,

100

4.9t

[A] =

4

3.0

[e] =

.ot

101




4 “4-8 )
17
(
0:11
005
[ ( )]
@ 50mm 5m 0.4kW
1
[ ]
3kVA
1
18
[
[A] = 2 [B] = 1.000
[C]=1 3kVA [X]=11

102




4-8

18

08

103




4 “4-8 )
19
1 (900mm) 3m
( 4
( 900

3
[A] = 4 1 (900mm) 3m [8] =
[€1=1 0] =

104




( ) 2.0 150 200mm 5
( 300mm , )
300
150 200
1
300
1
=1 1 300mm [B] =1 2 2.0 150 200mm
=1 5 [p] = 1
=1 [F1=1 (

105




4 (4-8
21
3.5 150 200mm 5
( 300mm
300
3.5 150 200
300
[ 1
[A] = 1 1 300mm [B] = 3 2 3.5 150 200mm
[C]=1 5 [p] = 1
[E]1=1 [F1=1 (

106




4 (4-8
22
) 200mm

(

200
[A] = 2 200mm [B] = 1
[c]1=1 [b]=1
[E]= 2

107




4-8

23

016

016

108




@48 ) (

24
100mm 3m
( 5 )
100
1

=1 100mm [B] = 1
=1 [p] = 1
= 1 ( ) 3 [c]= 4

109




@48 ) (

25
100mm 3 5m
( 5 )
100
1

=1 100mm [B] = 1
= 1 [p] = 1
= 2 ( ) 3 5 [G] = 4

110




@48 ) (

26
100mm 3 5m
( 5 )
100
1

=1 100mm [B] = |1
=1 b1 = 1
= 2 ( )3 5 [l =3

111




@48 ) (

27
100mm 5 12m
( 5 )
100
1

=1 100mm [B] = 1
=1 [p] = 1
= 3 ( )5 12 [G] = |3

112




4 “4-8 ) (

28

]
[B] = 2 B

113




4 (4-8
29
( )) 250mm
( )
4t 2.9t
69
250mm
70
60kVA
11 71
[ 1
4 4.5t

114




4 (4-8 )
29
( ( ) 250mm
( )
[ 1
[A] = 2 [B] = 250mm
[C] = 1.000 (a) [a] = 38 4c 20
[Xc] = 2 11

115




@48 ) (

( ) 8.9km 10t
( 0.8m3 , )
(10t )
8.9km
0.8m3
1 m3
( 0)
1 m3 3,000
= 3 10t [B] = /8-900 km
= 1 DID DID [D] = 6 0.8m3
=1 [a] = |1

116




4 (4-8
31
( ))
( 150mm
4t 2.9t
69
72
45kVA
11 73
]
[A] =1 150mm [Xc] = 2

117




4 (4-8 ) (
32
( ( ))
( 250mm , )
1
2
1
[ ]
37 100L/min
1
L 2 1
200Lx 2
1
45kVA
11 73
1
1nd = 500kg+ 100kg
( 0)
2 m3 9,950
15

118




4-8

32

( 250mm

))

[A] =

1 250mm

[Xc] =

N

119




@48 ) (

33
150mm

150mm

1 150mm [B]
1 (0]

120




4 (4-8
34
( )) 250mm
¢ 250
( 0)
77,000
74
75
4t 2.9t
69
]
Al = 1 50mm DR] = 50kw
250 0k

121




76

[e] =




4 “4-8 ) (

36
( ( ))
( 250mm
4t 2.9t
69
]
[A] = 1 250mm

123




4-8

37

4t

2.9t

69

[A] =

1

124




4-8

38

299

199

690

5.5kw

199

L
5 20L/minx 2

1
9.8MPa

199

7

69

78

21

125




4 “4-8 )

38

)
]

[A] = 2 = |1
[C] = 0.000 = |2.255
[E] = 1.150 = 1.138
[A1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[A3] = 0.000 m3 3(v):N = 4.810 m3 1(v):N
[B2] = 0.000 m3 2(v):N = 0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N = 2.900 m3 2(V):N
[C3] = 0.000 m3 3(v):N = 36.000 1A ):N
[D2] = 0.000 2N ):N =/0.000 3N )N
[E1] = 40.500 1A ):N =/0.000 2(A )N
[E3] = 0.000 3\ )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
™M1 4.000 ) = 1 0.000 ( )
[R] 0.000 ( ) = 0.000 ( )
[yl = 2

126




(4-8

39

099

296

197

686

5.5kw

197

L
5 20L/minx 2

1
9.8MPa

197

79

687

78

21

127




4 “4-8 )

39

)
]

[A] = 2 = |1
[C] = 0.000 = 2.173
[E] = 1.150 = 1.056
[A1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[A3] = 0.000 m3 3(v):N = 4.700 m3 1(v):N
[B2] = 0.000 m3 2(v):N = 0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N = 3.010 m3 2(V):N
[C3] = 0.000 m3 3(v):N = 36.000 1A ):N
[D2] = 0.000 2N ):N =/0.000 3N )N
[E1] = 40.500 1A ):N =/0.000 2(A )N
[E3] = 0.000 3\ )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
™M1 4.000 ) = 1 0.000 ( )
[R] 0.000 ( ) = 0.000 ( )
[yl = 2

128




(4-8

40

114

341

227

817

5.5kw

227

L
5 20L/minx 2

1
9.8MPa

227

80

817

78

21

129




4 “4-8 )

40

)
]

[A] = 2 = |1
[C] = 0.000 = 3.634
[E] = 0.000 = 11.316
[A1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[A3] = 0.000 m3 3(v):N = 8.070 m3 1(v):N
[B2] = 0.000 m3 2(v):N = 0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[C3] = 0.000 m3 3(v):N = 36.000 1A ):N
[D2] = 0.000 2N ):N =/0.000 3N )N
[E1] = 40.500 1A ):N =/0.000 2(A )N
[E3] = 0.000 3\ )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
[M] = 4.000 ) = 1 0.000 ( )
[R] = 0.000 ( ) = 0.000 ( )
[yl = 2

130




(4-8

41

113

34

226

817

5.5kw

226

L
5 20L/minx 2

1
9.8MPa

226

81

817

78

21

131




4 “4-8 )

41

)
]

[A] = 2 = |1
[C] = 0.000 = 3.594
[E] = 0.000 = 11.276
[A1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[A3] = 0.000 m3 3(v):N = 8.070 m3 1(v):N
[B2] = 0.000 m3 2(v):N = 0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[C3] = 0.000 m3 3(v):N = 36.000 1A ):N
[D2] = 0.000 2N ):N =/0.000 3N )N
[E1] = 40.500 1A ):N =/0.000 2(A )N
[E3] = 0.000 3\ )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
[M] = 4.000 ) = 1 0.000 ( )
[R] = 0.000 ( ) = 0.000 ( )
[yl = 2

132




(4-8

42

09

269

179

549

5.5kw

179

L
5 20L/minx 2

1
9.8MPa

179

82

55

78

21

133




4 “4-8 )

42

)
]

[A] = 2 = |1
[C] = 0.000 = 2.437
[E] = 1.150 = 1.320
[A1] = 0.000 m3 1(v):N = 2.280 m3 2(V):N
[A3] = 0.000 m3 3(v):N = 5.430 m3 1(v):N
[B2] = 0.000 m3 2(v):N = 0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[C3] = 0.000 m3 3(v):N = 36.000 1A ):N
[D2] = 0.000 2N ):N =/0.000 3N )N
[E1] = 40.500 1A ):N =/0.000 2(A )N
[E3] = 0.000 3\ )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
[M] = 4.000 ) = 1 0.000 ( )
[R] = 0.000 ( ) = 0.000 ( )
[yl = 2

134




(4-8

43

101

303

202

706

5.5kw

202

L
5 20L/minx 2

1
9.8MPa

202

83

706

78

21

135




4 “4-8 )

43

)
]

[A] = 2 = |1
[C] = 0.000 = 2.267
[E] = 1.150 = 1.150
[A1] = 0.000 m3 1(v):N = 0.000 m3 2(V):N
[A3] = 0.000 m3 3(v):N = 5.330 m3 1(v):N
[B2] = 0.000 m3 2(v):N = 0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N = 2.380 m3 2(V):N
[C3] = 0.000 m3 3(v):N = 36.000 1A ):N
[D2] = 0.000 2N ):N =/0.000 3N )N
[E1] = 40.500 1A ):N =/0.000 2(A )N
[E3] = 0.000 3\ )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
[M] = 4.000 ) = 1 0.000 ( )
[R] = 0.000 ( ) = 0.000 ( )
[yl = 2

136




(4-8

102

305

203

744

5.5kw

203

L
5 20L/minx 2

1
9.8MPa

203

84

745

78

21

137




4 (4-8 )

44

)
]

[A] = 2 = |1
[C] = 0.000 = 11.980
[E] = 1.150 = 0.863
[A1] = 0.000 m3 1(v):N =/0.000 m3 2(V):N
[A3] = 0.000 m3 3(v):N =6.560 m3 1(v):N
[B2] = 0.000 m3 2(v):N =/0.000 m3 3(V):N
[C1] = 0.000 m3 1(v):N =/1.150 m3 2(V):N
[C3] = 0.000 m3 3(V):N = 36.000 1A )N
[D2] = 0.000 2(A )N =/0.000 3(A )N
[E1] = 40.500 1(A ):N =/0.000 2(A )N
[E3] = 0.000 3(A )N =/0.000 1A ):N
[F2] = 28.000 2(A ):N = 0.000 3(A ):N
™M 4.000 (n) = 0.000 ( )
[R] 0.000 ( ) = /0.000 ( )
[yl = 2

138




4 (4-8
45
( 0 40
0.17
2 4k )
79
( )
150mm 10
1:1
)
25kVA ( 123
1:1
1
1
[A] = 2 [B] = 1 (m3/h) 40
[Xc] = 3

139




4-8

46

2

(
0.8m3(

0.6)

)(

)

93

[Xc] = 3

140




4 (4-8 )
47
5 N 30
1500mm ,
123
123
246
1500mm
94
8
0.15 0.2m3
i1 95
421
« )
6t (1 2 )
123
[A] = 1 1500mm [B] = 2 5 N 30
[b] = 1 [a] = 7.350

141




4-8

47

(

1500mm

5 N 30

X1 =

2

[Xc] =

142




48

1500mm
138
138
277
1500mm
94
9
0.15 0.2m3
i1 95
474
6t (1 )
138
[A] = 1 1500mm [B] = |3 30
[b] = 1 [a] = 7.350

143




48

(

1500mm

X1 =

2

[Xc] =

144




4-8

49

(

1500mm

96

[A] =

1

1500mm

145




4 (4-8

50

( 1500mm
1500mm
97
[ 1

[A] =1 1500mm [b] = 1
[a] = 7.350 1 [Xc] =|3

146




4 (4-8
51
( 1500mm
07
07
07
4t 2.9t
98
53
99
82
]
[A] = 1 1500mm [B] = |7.820

147




4 (4-8
52
10 m3
0.26
0.26
0.52
« )
24-18-20
104 m3
2

148




4 (4-8
53
1500mm
17
17
34
1500mm
94
4
(
6t (1 2

17

[A] =1 1500mm [b] = 1

[a] = 7.350 1 [Xc] =|3

149




4 (4-8
54

12
12

)

4.9t 1 2 )
12

]
[Xc] = 3 2

150




4-8

55

17

17

17

151




4 (4-8 )
56
1500mm
04
04
08
4t 2.9t
98
3
1
[A] =1 1500mm

152




4 (4-8 )
57
1500mm
04
04
4t 2.9t
98
29
1
[A] = 1 1500mm

153




4 (4-8 )

58
1500mm
1500mm
30 ( 0)
27,900
1500
( 0)
7,830
1
A= 1 1500mm B] = |1.000
[A]
[C] = 1.000

154




4 (4-8
59
( 1500mm
07
07
07
4t 2.9t
98
53
99
61
]
[A] = 1 1500mm [B] = |7.610

155




4 (4-8
60
( 1500mm
07
07
07
4t 2.9t
98
53
99
5
]
[A] = 1 1500mm [B] = |7.500

156




(4-8

61

(rs

10cm 1

100

m2

81

52

66

( B )
4.5-2.5-40

10

m3

3 7.5m

42

102

42

103

3.0 7.5m

42

104

25t (123

)
2011 )

12

18

157




(4-8 (
61
10cm 1
(AS
=1 [C] = 10.000 cm
= 1 AS [y1] = 0.000
- 2 [y2] = 0.000 kg
=2 [N3] = 2
-6 [E] = 0.000 m2
= 0.000 ( ) [G] = 0.000
= 0.000 ( ) [J] = 0.000
= 0.000 [Xc] =3

158




4 “4-8 ) (
62
0.28m3(  0.2)
12
(
16
@ 4% )
3
( ) 12 1
0.26m3[  0.2m3]
1
[A] = 1 0.28m3(  0.2) [GH] =|1
[X] = 3 12 [T]1 = 0.000
[SH] = 4

159




4 “-s8 ) (
63
0.8m3(  0.6)
( 1 )
« )
0.21
Q % )
16
( ) 11 1
0.8m3[  0.6m3]
1
1
[A] = 4 0.8n3(  0.6) [GH] =1
[X]= 2 1 [T] = 0.000
[B] = 0.210 1 [C] = 0.000
[SH] = 4

160




4 “4-8 )

64
4t
(
C )
1
2 4k )
42
[ ]
4t
1:16
4
1:16
]
[A] = 2 4t [B]1= 1
[C] = 1.000 1 [D] = 42.000
[E] = 1.160 1 [CH] =1
[SH] = 4

161




@48 ) (

(10t ) 8.9km 100

0.8m3 )

10t
105

km [B] = 1 DID DID

0.8m3 [al

162




4 4-8

66

(4t 1.5km 10 m3
( 0.28m3
4t
106
35
1

[A] = 1 a4t [B] = 1.500  knm
[C]= 1 DID DID [0] = 3 0.28m3
[a] = 1

163




@48 ) (

10m3 ) )

10m3 [B] = 1

164




4 “4-8 ) (
68
( ) 20mm m2
0:33
0:33
B 1:2
28
0:02 m3
[ 1
[B] = 20.000 mm

165




@48 ) (

69
4t 2.9t
« )
1
Q % )
33
[ 1
4t 2.9t
1.2
1
[A]= 5 4t 2.9t [B] = 1.000
[C] = 33.000 1 [D] = 1.200
[SH] = 4

166




4 “4-8 )

70
250mm

0)
57,500

0)
5,560

300(A)

0
2,334

L
37 100L/min

3.0m3

0)
216

10 5

0)
2,240

38 4c 20

0)
1,960

® 76

0)
640

¢ 60

0
734

167




4 (4-8 )
70
250mm
¢ 60
( 0)
922
250mm
( 0)
584
1
[A] = 1 250mm [B] = 38 4c 20

168




@48 )

71
«C ) B0KVA

Q@ % )

)
60KVA ( 123 )

9 60KVA
1

[B] =
[Xc] =

56.000

169




@48 )

72
[ 1
1.5tx 40m/min ¢ 16x 200m
[ ]
15kN(1.5t) 1.5m

170




@48 )

73
« ) 45KVA

Q@ % )

)
45kVA (123 )

8 45kVA
1

[B] =
[Xc] =

41.000

171




4-8

74

01

076

021

50kw

kiwh

@ 5mm

kg

)]
250A

076

30

172




4 “4-8 ) (

74

1
[DR] = 1 50kl

173




4-8

75

007

053

02

163

m3

028

kg

30

174




4 (-8
76
0.019
0.038
0.019
10
1
[A]= 6 (

175




(4-8

7

255

107

15

108

(5]
(0]

0.000
1.150

176




4 (-8

78
(
( ) @ 40.5mm
0:02
( ) ¢ 12mm
0005
( ) @ 38mm
0:003
25
]
[Al= 2

177




(4-8

79

173

107

15

108

(5]
(0]

0.000
1.150

178




(4-8

80

634

107

(5]
(0]

0.000
0.000

179




(4-8

81

594

107

(5]
(0]

0.000
0.000

180




(4-8

82

437

107

15

108

(5]
(0]

0.000
1.150

181




(4-8

83

267

107

15

108

(5]
(0]

0.000
1.150

182




(4-8

84

98

107

15

108

(5]
(0]

0.000
1.150

183




4 (-8

85
4t 2.9t
« D
17
Q 4% )
7
L 1
4t 2.9t
1
[A] = 5 4t 2.9t [T] = 0.000
[SH] = 4

184




4 “4-8 ) (

86
2
( )
109
0:398
]
[A] = 2.760 k [B] = 0.690 k 1
[C] = 75.300 min 1 [D] = |1 2
[A1] = 1.000 (a) [E] = |2
[F] = 0.000 [G] = |0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 v)( ) [K] = 10.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = |0.000
[N] = 0.000 [0] = |0.000
[P] = 0.000 )

185




4 “4-8 ) (

87
2
( )
109
0.394
1
[A] = 2.747 & [B] = 0.687 k 1
[C] = 74.500 min 1 ] = 1 2
[A1] = 1.000 @) [E]1= 2
[F] = 0.000 [G] = 0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 w)( ) [K] = 0.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = 0.000
[N] = 0.000 [0] = 0.000
[P1 = 0.000 0

186




4 “4-8 ) (

88
2
( )
109
0.454
1
[A] = 3.264 k [B] = 0.816 k 1
[C] = 85.800 min 1 ] = 1 2
[A1] = 1.000 @) [E]1= 2
[F] = 0.000 [G] = 0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 w)( ) [K] = 0.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = 0.000
[N] = 0.000 [0] = 0.000
[P1 = 0.000 0

187




4 “4-8 ) (

89
2
( )
109
0.453
1
[A] = 3.264 k [B] = 0.816 k 1
[C] = 85.600 min 1 ] = 1 2
[A1] = 1.000 @) [E]1= 2
[F] = 0.000 [G] = 0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 w)( ) [K] = 0.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = 0.000
[N] = 0.000 [0] = 0.000
[P1 = 0.000 0

188




4 “4-8 ) (

90
2
( )
109
0.423
1
[A] = 2.838 k [B] = 0.690 k 1
[C] = 77.700 min 1 ] = 1 2
[A1] = 1.000 @) [E]1= 2
[F] = 0.000 [G] = 0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 w)( ) [K] = 0.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = 0.000
[N] = 0.000 [0] = 0.000
[P1 = 0.000 0

189




4 “4-8 ) (

o1
2
( )
109
0.404
1
[A] = 2.824 k [B] = 0.706 k 1
[C] = 76.300 min 1 ] = 1 2
[A1] = 1.000 @) [E]1= 2
[F] = 0.000 [G] = 0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 w)( ) [K] = 0.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = 0.000
[N] = 0.000 [0] = 0.000
[P1 = 0.000 0

190




4 “4-8 ) (

92
2
( )
109
0.406
1
[A] = 2.979 k [B] = 0.745 k 1
[C] = 76.800 min 1 ] = 1 2
[A1] = 1.000 @) [E]1= 2
[F] = 0.000 [G] = 0.000
[H] = 0.000 [1] = 0.000
[J] = 0.000 m3 w)( ) [K] = 0.000 m3 w)( )
[L] = 0.000 m3 w)( ) [M] = 0.000
[N] = 0.000 [0] = 0.000
[P1 = 0.000 0

191




4 (4-8 ) (
93
( ) IGED) 0.8m3(C  0.6)
( 2
« )
1
2 4k )
69
)
0.8( 0.6)2.9t( 123 2011 )
1:16
1
[A] = 3 0.8m3(  0.6) [B] = 1.000
[C] = 69.000 [0] = 1.160
[Xc] = 3 2

192




(4-8 )
94
1500mm
« )
15
2 4k )
35
¢ 1500 @ 1800 ¢ 2000

( 0)
13,700
[ 1
[A] = 1 1500mm _
[T]1 = 0.000 -1
[B] = 7.350 1

193




4 (4-8 (
95
0.15 0.2m3
( 11
« )
16
@ 4k )
3
[ 1]
0.15 0.2m3
[ 1
[A]l=1 0.15 0.2m3 [T] = |0.000
[GH] = 1 [B] = 0.160
[C] = 6.300 [xX]= 2

194




4-8

96

10

15

22

195




4 (4-8 )
97
1500mm 10
62
62
24
1500mm
94
« D
6t (1 2 )

62

[A] =1 1500mm [b] = 1

[a] = 7.350 1 [Xc] =|3

196




@48 ) (

4t 2.9t
0.17
Q % )
5.7
2.9t
1
4t 2.9t [T] = 0.000
1 [C] = 5.700

197




4-8

99

10

14

14

14

198




@48 ) (

100
( ) 12 10Km

10.000  km

12 [B]
1 = 0.000

1
1 [D
1

199




4 “4-8 ) (

101

]
[Al= 5 -

200




4 “4-8 ) (

102
3 7.5m
« )
0.17
2 4k )
4
[ 1
3.0 7.5m
1
[ 1
[A] =1 3 7.5m [T] = 0.000

201




4-8

103

7.5

16

Q@ %

)

[
3.0 7.5m

[A] =

1

7.5

[r1 =

0.000

202




4 “4-8 ) (

104
3.0 7.5m
« )
0.16
2 4k )
2.2
[ 1
3.0 7.5m
1
1
[A] = 1 3.0 7.5n [T] = |0.000

203




4 (4-8 (
105
10t
( )
« )
1
@ 4% )
62
[ 1
10t
1:29
10
1.29
1
[A] = 5 10t [B] = 1
[C] = 1.000 1 [D] = 62.000
[E] = 1.290 1 [GH] = 1
[SH] = 4

204




4 “4-8 )

106
4t
(
C )
1
2 4k )
34
[ ]
4t
1:29
4
1.29
]
[A] = 2 4t [B]1= 1
[C] = 1.000 1 [D] = 34.000
[E] = 1.290 1 [CH] =1
[SH] = 4

205




4 (-8

107

(
0:03
@ 41mm
0:04
@ 40.5mm
0:003
17

[A] = 2

[e] =

206




4 (-8

108

(
0:02
@ 41mm
0:03
@ 40.5mm
0:002
16

[A] = 2

[e] =

207




4-8

109

4t

2.9t

4 4.5t

208




4 “4-8 )

1
17.756m
( @ 66mm
( )
@ 66mm
3:45
( )
@ 66mm
14;306
]
[yl] = 2 [A] = (@ 66mm
[B] = 4
[a] = 17.756 )
s 3.45
14.306
[b] = 1 2] =

209




4 “-8 )
1
( ) 50,000m3 m3
Q) ()
( ) 2 1
0.8m3[  0.6m3]
« )
Q@ % )
1
[0 =1 [J2] = 1 50,000m3

210




(4-8

m3

()

Q)

0.8 0.6)( 123

2011

)

Q@ 4

)

[91] = 1

211




“8 )

3
15cm
Q) ()
[ 1

20cm 56¢m

)

)

22 (55cm 56¢m)
)

212




4 (4-8 )
3
15cm
D) (D)
1
Bg f i a [J2] =1 15cm

213




“4-8 )
4
15cm m2
(
D) (D)
0.45m3( 0.35)( 123 )
« )
(2 4k )
1
[J11 =1 [J2] =1
[33]1 =1 [J4] = 4 15cm
[J6] = 1 [371 =1 (¢

214




4 (4-8

(22.0kn  DID

15cm

)

m3

()

Q)

[ 1
10t
« )
Q 4% )

L 1

[J1] = 3 [321 = 3 15¢

[331=1 DID DID [JA] = 6 22.0km

[3J1 =1 a

215




4 (4-8
6
m2
D) (D)
[ 2 1
3.1m
[ 12 1
10t 2.1m
(
8 20t ( 123 2011 )
« )
(2 4k )

216




(4-8

m2

()

Q)

1
[91] = 1

[J4] =1

a

217




4 “4-8 )
7
( )1 50mm As ( )( )20mm m2
( 1.4 3.0m )
() ()
C )
1.4 3.0m( 12 32011 )
3 4t( 123 )
C )
34t (1 2 3 )
« )
« )
« )

218




“4-8 ) (

7
( )1 50mm As ( )( )20mm
( 1.4 3.0m
() ()
20mm
PK3-4( )
(2 4k )
« )
[ 1
[J2] = 50.000 mm 1 [J1] =3 1.4m
[A1] = 12 As ( )( )20mm [A2] = 2
[J4] =3 PK-3 [J6] =1 Q1

219



4 “4-8 )
8
( )1 50mm As ( )( )20mm m2
( 1.4 3.0m )
() ()
C )
1.4 3.0m( 12 32011 )
3 4t( 123 )
C )
34t (1 2 3 )
« )
« )
« )

220




“4-8 ) (

8
( )1 50mm As ( )( )20mm
( 1.4 3.0m
() ()
20mm
PK3-4( )
(2 4k )
« )
[ 1
[J2] = 50.000 mm 1 [J1] =3 1.4m
[A1] = 12 As ( )( )20mm [A2] = 2
[341 =1 PK-4 [J6] =1 Q1

221



4 “4-8 )
9
( )1 50mm As ( )( )20mm m2
( 1.4 3.0m )
() ()
C )
1.4 3.0m( 12 32011 )
3 4t( 123 )
C )
34t (1 2 3 )
« )
« )
« )

222




“4-8 ) (

9
( )1 50mm As ( )( )20mm
( 1.4 3.0m
() ()
20mm
PK3-4( )
(2 4k )
« )
[ 1
[J2] = 50.000 mm 1 [J1] =3 1.4m
[A1] = 12 As ( )( )20mm [A2] = 2
[J4] =3 PK-3 [J6] =1 Q1

223



4 (4-8 )
10
( )1 50mm As ( )( )20mm m2
( 3.0m )
() ()
C )
2.3 6.0m( 1232011 )
C )
100 12t ( 1 2)
(
8 20t ( 123 2011 )
« )
« )
« )

224




4 (4-8 )
10
( )1 50mm As )(C )20mm m2
( 3.0m
() €)
20mm
PK3-4( )
(2 4k )
C )
[ 1
[J2] = 50.000 mm 1 [J1] = 4 3.0m
[A1] = 12 As ( ) D20mm [A2] = 2
[J4] = 3 PK-3 [J6] =1 ¢!

225




(48 )
11
( )1 30mm As ( ) )13mm m2
( 1.4 )
() ()

[

1.4 3.0m
3 4t( 123 )

)
« )

)

13mm

226




4 (4-8 )
11
( )1 30mm As ( ) )13mm m2
( 1.4 )
() ()
PK3-4( )
(2 4k )

« )

1
[J2] = 30.000 mm 1 [J1] = 3 1.4m
[A1] =5 As ( ) )13mm [A2] = 2
[J4] =3 PK-3 [J6] =1 Q1

227




(4-8

12

100mm 1

m2

()

Q)

0.11m3

( )
0.08m3( 123

(

)

3 4t( 123

RC-40

Q@ 4

)

228




4 (4-8

12

( ) 100mm 1 m2
( 40
() €)
C )
[ 1

[J1] = 100.000 mm [J2] =1
[J3] =3 40 [J4] =1 @

229




4 -8 (
13
( ) 150mm 1 m2
( 40 0
() €)
[ 2 ]
3.1m
[ ]
10t 2.1m
(
8 20t ( 123 2011 )
C )
«c )
C )

230




(4-8

13

150mm 1

m2

()

Q)

RC-40

Q@ 4

]
[J1] = 150.000 mm

[J2] = 1

[J3] = 3

40

[94] = 1

a

231




4 -8 (
14
( ) 120mm 1 m2
( M-40
() €)
[ 2 ]
3.1m
[ ]
10t 2.1m
(
8 20t ( 123 2011 )
C )
«c )
C )

232




4 -8 (
14
( ) 120mm 1 m2
( M-40
() €)
40mm
(2 4k )
C )
]
[J1] =5 M-40 [J4] = 120.000 mm
[J5] =1 1 071 =1 ¢!

233




4 (4-8
15
( )1 30mm As ( )( )20mm m2
( 1.4m )
() ()
( ) 1
0.5 0.6t
[ 1
40 60kg
« )
« )
20mm
PK3-4( )

234




4 (4-8 )

15

( )1 30mm As ( )(C )20mm m2
( 1.4m )
() €)
(2 4k )
C )
[ 1

[J2] = 30.000 mm 1 [J11 =1 1.4m 50mm
[A1] = 13 As ( ) D20mm [A2] = 2
[J4] = 3 PK-3 [J6] =1 ¢! )

235




4 -8 (
16
( ) 150mm 1 m2
( M-40
() €)
[ 2 ]
3.1m
[ ]
10t 2.1m
(
8 20t ( 123 2011 )
C )
«c )
C )

236




4 -8 (
16
( ) 150mm 1 m2
( M-40
() €)
40mm
(2 4k )
C )
]
[J1] =5 M-40 [J4] = 150.000 mm
[J5] =1 1 071 =1 ¢!

237




4 (4-8
17
( )1 50mm As ( )( )20mm m2
( 1.4m )
() ()
( ) 1
0.5 0.6t
[ 1
40 60kg
« )
« )
20mm
PK3-4( )

238




4 (4-8 )

17

( )1 50mm As ( )(C )20mm m2
( 1.4m )
() €)
(2 4k )
C )
[ 1

[J2] = 50.000 mm 1 [J11 =1 1.4m 50mm
[A1] = 13 As ( ) D20mm [A2] = 2
[J4] = 3 PK-3 [J6] =1 ¢! )

239




(48 )
18
( )1 30mm As ( )( )20mm m2
( 1.4 )
() ()

[

1.4 3.0m
3 4t( 123 )

)
« )

)
20mm

240




4 (4-8 )
18
( )1 30mm As ( )( )20mm m2
( 1.4 )
() ()
PK3-4( )
(2 4k )

« )

1
[J2] = 30.000 mm 1 [J1] = 3 1.4m
[A1] = 6 As ( )( )20mm [A2] = 2
[J4] =3 PK-3 [J6] =1 Q1

241




“8 )

19
15cm
Q) ()
[ 1
20cm 56¢m
« )
« )
22 (55cm 56¢m)
« )

242




4 (4-8 )
19
15cm
D) (D)
1
Bg f i a [33]1 =1 15cm

243




(48 )
20
15cm m2
(
Q) ()
0.45m3( 0.35)( 123 )
« )
(2 4k )
1
[J1] = 2 [92] = 1
[33]1 =1 [J4] = 4 15cm
[J6] = 1 [371 =1 (¢

244




4 4-8
21
«C ) m3
(23.2km  DID
Q) ()
[ 1
10t
« )
Q@ 4% )
1
[01] = 1 ( [J2] = 1
[331=1 DID DID [JE] = 8 23.2kn
[0J9] =1 a

245




(4-8

22

170mm 1

m2

()

Q)

0.11m3

( )
0.08m3( 123

(

)

3 4t( 123

RC-40

Q@ 4

)

246




4 (4-8

22

( ) 170mm 1 m2
( 40
() €)
C )
[ 1

[J1] = 170.000 mm [J2] =1
[J3] =3 40 [J4] =1 @

247




(4-8

23

m3

()

Q)

60 80kg

1
[91] = 1 ¢!

248




“4-8 ) (

24

(18-12-40 B WC60 )

%) ()

18-12-40 ( B) W/C=65%

1] = 2 [J9] = 3
[N1] = 23 18-12-40 B WC60 [N2] = 2
[N3] - 2 [N4] = 6
[5] - 2 [07] = 2
[B] =1 ¢ )

249




“8 )

25
17.5cm 20.0cm m2
( C-40
D) (D)
0.8( 0.6)( 123 2011 )
« )
« )
« )
C-40
(2 4k )

250




4 (4-8 )
25
17.5cm 20.0cm m2
C-40
() ()
(
1
[J1] = 4 17.5cm 20.0cm [J2] = 2 C-40
[33] =1 ¢ )

251




“4-8 ) (

26

(18-8-40 B WCe0 )

%) ()

( B )
18-8-40 W/C=60

1
1] = 2 [J9] = 3
[N1] = 11 18-8-40 B WC60 [N2] =2
[N3] = 2 [N4] = 6
[J5] = 2 P71 =2
[B] =1 ¢ )

252




(4-8

27

m2

()

Q)

1
[J1] = 1

[J2] = 2

253




4 (4-8
28
1:2 m3
Q) ()
1
EJ% =5 ( [J2]1 = 2 1:2
J3] =1 1

254




(4-8

m3

3,000

364,000

159,000

56,200

23,200

¢ 250

77,000

4 300 500kN/

m3

11,000

@ 1500 @ 1800 ¢ 2000

13,700

¢ 1500

27,900

255




4 (4-8
m3 12,000
1500mm
30
27,900
1500
7,830
57,500
5,560
300(A)
2,334
3.0m3
216
10 5
2,240
38 4c 20
1,960

256




4 (4-8 )
¢ 76
640
¢ 60
734
¢ 60
922
250mm
584
m3 3,000
1nd = 500kg+ 100kg
m3 9,950
¢ 150
285,780
138,622
264,781

257




4 4-8
84,979
AB,® 250
112,000
co
m3 1,880

258




